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Mahesh was too smart. (Remove ‘too” without changing the meaning.)
(A) Mahesh was not smart at all.
(B) Mahesh was smart more than required.

(C) Mahesh was foolish.
(D) I was doubtful whether Mahesh was smatrt or not.

.................... INS Arihantis..................... Indian Naval ship. (Fill in the blanks)

(A) The & an (B) An & an

(C)A&an (D) The & the

Most students have brought their homework. .........cc.......... of them have not completed it yet.
(A) None (B) Few

(C) Each (D) Alittle

3 IR ALOL SULAL. - AL ALsU e U155 232 MidR g Ul ?

(A) I cut my hair. (B) Iclipped my hair.
(C) I got my hair cut. (D) I had anice hair cut.
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y
. — . ¢Phantom’.
Give the nearest meaning of word : {Phantom .

real (D) tangible

(A) existent (B) imaginary (C) corpo
Give the verb form of ‘little’. .

eli (D) bilittle
(A)alittle (B) unlittle (C) belittle
Change the voice : “What caused COVID-19 7 ]
(A) What was COVID-19 caused by ? (B) What was cauic]:)d ) ;' COVID-199
(C) By what is COVID-19 caused ? (D) By what COVID-19 was caused 7

Select the word or phrase which is closest to the opposite in meaning of the underlined word : “Rahy
will never accept your request.”

(A) turn over (B) turn down (C) turnup (D) reject

Add a suitable question tag : Radha, one of my neighbours slipped off a staircase. .............?

(A) did she (B) does she (C) doesn’t she (D) didn’t she

Fill in the blanks with appropriate set of prepositions : Nidhi travelled................. hermotherall ...
the world when she was 17 years old.

(A) by, above (B) for, around (C) with, around (D) with, over

Tum this sentence into English : “¢% el § d-l il 21sell Glelell A asdl gl

(A) I could still saw her standing there alone. (B) I could still see her stood there alone.

(C) I could still see her standing there alone. (D) I canstill see her standing there alone.

Fill in the blanks with the appropriate word / words : Rohan and Nayan have been on vacation
..................... May 2023. They ..................... to Manali for a week.

(A) for, had gone (B) since, had gone (C) for,have gone (D) since, have gone

Mantra got the first prize last week. Find out the correct option to get the underlined answer.
(A) Which prize did Mantra get last week ?

(B) When did Mantra get the first prize ?

(C) Which prize Mantra got last week ?

(D) Where did Mantra get the first prize ?

Ravi.eeeveeennnnn, in this company for five years. Find out correct form of verb from the options.
(A) works (B) is working

(C) has been working (D) have worked

Find out the correct spelling from the options,

(A) Spactacular (B) Spectacular

(C) Spactaculor (D) Specteculor
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